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‘Which of the following is incorrect?

Same Side Exterior; /1 and /7; supplementary
Same Side Interior; /5 and /3; supplementary
Alternate Interior; /4 and /5; c ongruent
Alternate Exterior; /8 and /5; congruent

e. Corresponding; ~3 and /7; congruent
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‘Which of the following is incorrect?

Corresponding; /4 and /8; congruent

Same Side Exterior; /1 and /7; supplementary
Alternate Interior; /4 and /5; c ongruent

Same Side Interior; /6 and /7; supplementary
e. Alternate Exterior; /7 and ~/2; congruent

[

www.mrtownsend.com

geo_03_review_notes.gwb - 3/20 - Thu Dec 28 2017 12:48:08

geo_03_review_notes.gwb - 4/20 - Thu Dec 28 2017 12:49:07

powered by
mxw:..s.mm..w

Give the slope of a line that is parallel to the line —5x— 6y = 11.

a. —06/5 c. —11/6 e. 6/5
b. —5/6 d. 11/6 f. 5/6

p
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Give the slope of a line that is parallel to the line —9x+ 5y =—17.

a. —17/5 c. 5/9 e. 17/5
b. —5/9 d -9/5 £ 9/5
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Give the slope of a line that is perpendicular to the line 3x — 5y = 13. Give the slope of a line that is perpendicular to the line 5x — 2y =—11. .m.
c
Q
a. 5/3 c. 13/5 e. —3/5 a. —11/2 c. 5/2 e. 11/2 2
b. —5/3 d 3/5 £ —13/5 b, —5/2 d —2/5 £ 2/5 m
E
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Write an equation of a line in point-slope form that is parallel to

y= |Wx - 8 and passes through point (4, —15).

_4 4
a. y MH+@ ¢ y=g¥ 6
b p_nlma-o d u.nlmx+m

Write an equation of a line in point-slope form that is parallel to

V= WH - 9 and passes through point (6, 3).

a ‘eH\WH-q c. &H\Wx+q
.”M .”M -

b. ¥ ux+q d ) 3* 7
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o
Write an equation of a line in point-slope form that is perpendicular to Write an equation of a line in point-slope form that is perpendicular to 2
c
y= |Wx + 5 and passes through point (-9, 5). V= WH - 2 and passes through point (—12, 20). nncw
3
9 9 1 o)
) = —=x + p=—=X - p=—2x + )= —X - b=
a. ) hxo c. ) #xo a. ) 2x+4 n.uwkp m
4 4 1
y= e P =y + = Dy P = —y +
w.poxo a.‘__m.xo b. ¥ 2x-4 a.‘__wxuﬂ =
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Write an equation of a line in point-slope form that is perpendicular to
—7x + 8y =—64 and passes through point (-21, 13).

NP N c y-Toeo
T =8y
by e 9 d ) =X 9

Write an equation of a line in point-slope form that is perpendicular to
—3x +4y =20 and passes through point (-6, —1).

_3 4
a. ) Nx+@ c. ) wx 9

.|‘m nlw -
b. ¥ wx+© d ) LH 9
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Write an equation of a line in point-slope form that is perpendicular to Write an equation of a line in point-slope form that is parallel to 2
—5x + 6y = —36 and passes through point (-15, 13). —6x — 4y = —24 and passes through point (-16, 33). 5
6 6 3 3 m
L - L = €
a. y |Wx-w c. y |Wx+w a. y |Mx-@ c. y |Mx+w W
5 5 2 2
b. ==x+3 d y==x-3 b. ==x+9 d y=3x-9
Y=g y=g* Yo y=3x ES
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Write an equation of a line in point-slope form that is parallel to
6x —2y = 18 and passes through point (—6, —26).
__1 —
a. ‘f_\lwx+m c. y=3x+8 .
1 T i
b. v=3x-8 d y=—=x-8 : MHW&&&BE : ywm_me_.wnﬁn
v v w 4 Lea Lh 4 VertzalAngks
5 sband sh are sppemenry 5 SameSife Tnterior Argles
mﬂnwn_anmi— Reasans
Y M“akmmwﬁﬁa.ma
s Mﬂwn_ﬁkh\uﬁmmgﬂuﬂumu.
mﬂnwn_anmi—
Y MM&M&&E 3
“ MUMM&J&BE B <
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Whith i 3 cosract two-cotumn proof?
Given: /1 104 £Y 352 supplamentary
Prove:I| n

Satenens Ressons
ZH and £X ars sopplemeniary. | Given

LHa L Alsmars Extericr Anges
£G and £Zare spploentary. | Sibstiton

thn

Sems Sice Tnterior Argles Comerse

b,
Satemsnn Reasons
2 and £X are supplementary. | Given
Ha Verical Angles

LE 3 LEam mpplemennry.

thn

Same-Sice Invericr Angles
Seme-Side Incericr Angles Comensz

Satenens Reasens
7H a1 £¥ ars supplamentary. | Given

LHa L Verical Anges
ZE and L¥are supplmentry. | Substitoion

thn

4. nomeof these

Same-Side Interior Argles Comerss

In the image below; m./5 = (9x—105)°, m/6 = (6x—120)°, and m#7 =) Find
the value of x.
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In the image below; m./3 = (—2x + 105)", m/5 = (8x +33)’, and m/7 =3". Find

the value of y.

In the image below; m./7 = (—2x +98)°, m/2 = (4x +68)°, and m /2 =3°. Find
the value of x.






